Pre-Calculus Math 11
Practice Final Exam
Part A: Non-Calculator Section

1. Evaluate |—4 — 7| — 4|7 = \"’\\\ -28 =\-28 = -7
A. 57 -17 C.17 D.-105

2. Evaluate | — 2x% + 3x — 1| forwhenx = 2 -
3 B. -3 C. 12 D.-12

\-1(1\‘-\-3(2}-—\\ = \-*‘2,(‘-\\ ‘HD'\\ = l-e .\.5\ - \-2_,\ 2
. Write the following as an entire radical: 43/3

A V12 B.¥7 (©)V192 D. %36
43 = ey s jmz

4., Write the mixed radical —4 % as an entire radical.

i

98]

i 1 1
' \/— 'B. V8 c.- |3 D. |~
\b\ ¢
3 .
5. Simplify the expression and rat1onahze the denominatcgi % - % LD VG = («5 \Vb / \ru \rb
V2 V6 V2 -
A BZ C. V6 D.2 / y ;
\\\\7
6.

Solve: 2\/—x— 4 SN0 - X ‘-._‘-é_ — X= =~
@ 4 - B.—16 VT =2 D. no solution

7. Solve:V3x+2+1=3-({ 2v+2 —L?_}——» 37(+2 “\ —> 3x:=2 —> k=2 3
=\

!
A. 2 B.3 @5 D.-3
8. In what quadrant does the terminal arm of a standard position angle of 170" lie? = T
Al (B)u C.III D.IV

It TN

-2

9. Determine the reference angle for a standard position angle of 100°.

A 100 80" C. 100° D. -80° :ﬁe:xoo'
Or: 180100 g

10. In which quadrant does a standard position angle fall if cosx >0, and sinx <0?

L>00$.\$ 0s. _LDSINE LY.
Al B.II C. 10 P Oy y




1
A3 D. —=
NE]
. . 3 ) )
12. Given that sin x = ———, determine the exact value of x, if 0 < x <360°. By=00"
A ) 2€ 0 ,= B0+L0° Oz 3007 (0°
- \ neh otV \ =340° = 200°
TG A 10, 330 B. 210°, 330° (©) 2407, 300° D. 2107, 300°
. 21>
C

13. If the point ( —3, 2) is on the terminal arm of a standard position angle 8, then determine the
=2t (-3
m = m

exact value of sin @ .

2 -3

2 -3
@E B.—E C.\/g D.\/g

14. Determine the exact value of the side AC in the given triangle.
A o= 0d)

N .
8 S S

A8 ®F 2

i 3 B
C. T D. % 2 = C
3 a
15. If sinx = 1 and tan x <0, then determine the exact value of tanx.
\»3()05 Creg

7% B. —/8 C. —?

v*=23 -1 5b*=8 — =38

Sanx=
g 16. Solve 2x? - X = 6
e b
AN 2 2 2 2
W ZRA- =0 > 22X XA o= 0
17. Solve |x—2|=5 2%(%-2) *B(%-2) =0
x-2=G - A ; (27{(@%\(1'2’) =0 o o
B LoX= x=-3,7 .x=-7,3 . x=3,7
@‘m_‘»!j] H H 7 ‘ 7 l o 7 ‘s
—(*-0=6 } ) ) ; T l : e
—~32<5 18. Determine the equation of the function graphed on the right. - \4 SRR
"7(=g A. y:—l—- B )):L1 'X'¢‘1 i At
= - X— E j Mo e

_x+1 -—-‘L*"""'
2 %+
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20. Which of the following graphs best represents the reciprocal of the graph‘= x2 -4 Xx=2,A="2

Koo \/B/ el A o
a T 2 ] ¥ 5 s ‘ :;;-t‘: l_,.l ] 71—-— ' i
- : -t
Part B: Calculator Section .
-0~ -Y4=g
1. Determine the first term in the geometric sequence: _ , 20, 80
_ )
INE B. 4 c.-120 * D.4
2. Determine the common difference of the arithmetic sequence —2.460.3, 1.8, ...
A. 27 B. -2.1 (©) 2.1 Y, D.27
3. Determine the 10™ term of the arithmetic series 6 +7.2+ 8.4 +... n=10,%1=b, 4=\, L
@ 168 B. 18 C.30.96 D. 114 ko= b+ (o-Dhl)
4. Determine the partial sum S, for the arithmetic series —12 —9 — 6 —... % don'k KNOW lask ke
_ b=\ = Do =2 (2 12) $ 2 (120
A. 21 B. -342 C.72 o (Dys4 S C > ]|
=
5. If three consecutive terms in an arithmetic sequenge are given by 4, &, 10, then determine £.
A. 125 B.3 7 4 D. 6
k=T
=30 2 . s L H42d =10
s~ "% 6. Find the sum of the infinite geometric series —45 +30—20 ... d=2
S=4t A -135 B. -35 (C)-27 D. no finite sum
' .2
_ — 45 7. Inageometric sequence £, =10 and £ =4, determine Z, . 25 g)—o'_\—j— — = \‘\% "5
"_Tr Y S _ .1z 13-\
TS A 04 1.6 C. 0.64 D. 25 =257 (%)
8. Determine the 9" term in the geometric sequence —16, —24, —36...
A. —615.09 —410.06 C. —922.64 D. -0.62
- - a-\
= L2 e - (3)
~lo
,b\ -~ \\p

n=9



23 2D
—~ A~
9. The series 3+9+27+... could be classified as

A. Geometric (convergent) ) Geometric (divergent)
C. Arithmetic D. None of these
- - -2
10. Determine the sum of the first 14 terms of the geometric series—1 +2 —4 +.... V=% W
- - -2
A. 8192 B. 2731 C. 8191 s461  Sm= ,‘(‘—(L%.l
L (-

11. If the sum of an infinite geometric series is 27, and the common ratio is 13 , determine the first
E XY

term. \ Y
18 B. 40.5 C. 81 D.9 21=_t_
\ 73
2, , =R
12. Determine the number of terms in the series Z J z
\2 -3 1 210 " 1.2
@)10 B. 11 C. 12 D. 13 >
22 n-
13. How many terms are in the geometric sequence 2, 6, 18, ..., 13122? \3122= 23
bSb| =&""™
A7 B. 8 ©o9 D. 10

LSel =3 . n=A

LN
14. What is the partial sum 5}, of this geometric series 3:\6 +12 ... if £, =30729 .
.6141 B. 3069 C. no finite sum D. 1533 Su= %(_\_\:_%j)——
8
15. Evaluate z3k—7 = (20)-71) + @D - (2270 & (uia) =) N CAEN =) (2() -1
k=1 + (3OO 038 -7
@) s2 B. 35 C. 229 D. 72

Use the quadratic function y = =3 (x + 4)2 +5 for the following 4 questions.
Ndown 4 NG
16. Determine the equation of the axis of symmetry of the parabola.
A x=4 (B) x=-4 C. y=5 D. y=-5

17. Determine the coordinates of the vertex of the parabola.

(-4.5) B. (4,5) C. (~4,-5) D. (4,-5)

18. Determine the range of the graph.

A -5<y B. y<-5 C. 5<y ySS

19. Determine the domain of the above function.
A. 4<x B. x<4 C.x<-4 xeiR




l(ﬂ ’5

q
20. Determine the coordinates of the vertex of the parabola y=x+6x+2 Y= ('X T4 bY+9) ~F+2
(-3,-7) B. (-3,7) c. (3,-7) D. (3,7) §= (x42 -7
<247

Use the graph of the parabola on the right to answer the following 3 questions, given the

Y

equation y=a(x— p) +q

=-2(%-2)* + 8 VAR
21. Determine the value of g.
A. 4 B. —4 (©s D. -8 \

22. Determine the value of a.
A. -5 B. 5 @ 3 D. 3

—
—
o
S Sy

23. Determine the y-intercept of the graph.- S€4 X=0
A y=-9 y=-19 C. y=-27 D. y:——357
Yz -2(-2)*+8 - y= -21+§

G Al bR L o ~iNlw: Al ol el a:®

2
24. Convert the general form equation y = x* + 6x + 4 to standard form. 7—((”) -3 q Y= (%+3)"-AH

A. y=(x+3) +4 B. y=(x—3) +4 C. y=(x—3) -5 Oy—(7;+3) -5

25. Convert the general form equation y =(—2x* + 8x)— 7 to standard form. Y= -2(x*>-M 73 -+
@) y=-2(x-2 +1 B.y=-2(x~2)~11 C.y=-2(x+4)'-23 D. p=-2(x+4)’+39 2=

G(-2)=Y
26.Solve x*+x-3=0 *=7! N‘“—“‘U’("h S ;E-i_@ Y= -2 (xF-uxay 4 -3
\) \________/‘ 2
1+ -1+ -1+ - - - -
@ xX= 1% \/_ B. x= L 2\/_ C. x= 1—22\/5 D. no solution = 2(X-2) %3
27. Solve the quadratlc inequality 0 <x* -8x+12 0< (L) (X-2 — j‘vL
Al —6<x<-2 B. x<—6,-2<x C.2<x<6 @x<26<x
28. Determine the equation of the inequality. cesnmesansemene smssas g B
L Tes(0,0) ¢ s
y>o¥+l g0 -
1 faise S
B y>—x+1 S )
f -2 -1 3 4 S >
C. y<=x+1 \ B s R e e e
? d‘“‘({;{f . ---------- -t 2 [ U S S ——
W - e S R P I 4
(E. ySE.X‘l'l o)ﬂwb : 3

29. Two numbers are related in this way: 3 subtracted from the first number then squared is less
than or equal to the other number plus 7. Which equation represents this situation?

A ¥ -3>y+7 B.-3<y+7  C.(x=3)2y+7" (D) (x-3) <y+7



verkex (72 %)
245 Tesy (0,0)
30. Which graph below best represents the inequality y > %( X+ 3)2 -3

Y
@y B
-

.
E

/ j ’,—,.
/,%gjﬁ?
7

X ' ,
.
?»:7 15 =

31. Determine the length of the side PQ

A. 6.07 oo b0
B. 6.29 Tl Snes°
.6.47
@ 7.14 (= sin18 %k A0
%inks’

32. Determine the measure of LI; N
A.36° cosP =292 -32.01*-297

B, 43° - -
©ar ~2(2.00(2.97) 3.07 92
D. 68°
. P&
X -12 o 3.97 ¢

S A 33. Solve: sinx=-0.208 on the interval 0<x<360°
@ , A x=-12° x=192°,348°  C. x=12°,168° D. x=-12°192°

T c 2_

34. Simplify the rational expression — and state non-permissible values.
(?A)(u"{) X +2x-8

3 X4 ean B a0 o eao D X2 su04
(R \(‘k“?— _27 s . x3_2: 5 . x_2: > . y— > >

xE-H 1046 ab _ 1003 x % 5
35. Simpli = = X —g = 200°b
plify ——+= F7 ¥
20 5

20a’h B. 5a°b* C. - D. —
ab a’b



(LY (% 327 LA
G2 - (27 N (x50

2(-\0 = -1
AN i GRS iy S SE
¥ -x—6 2x*+x-1", . I LA R L RN
: in simplest form.

36. Express the quotient —; +—=
x"+7x+10 x"+6x+5

- - ~3)(2x-1 5Y’
A 2x—1 x—3 C. (x )()C2 ) ‘ (x+ )
x=3 2x—1 (x+5) (x-3)(2x-1)
-2) - x-S -2%-b - 3% -2\
37. Simplify ————2— . S0 20042 B llq e
x+3 x-3 K> - 43R — 9 At~ K
3x2—-21 B. 3 C. 7 D. 7;—9
x" -9 x+3 x+3 x° -9
-
38. Solve for x exactly: 11 =3 5 K =X 3*?((7“”2’ —> 2= 3% xlox
x x+2 KAL) TR _ 2>y lR-2
0= 53X A
34421 34415 3443 AN\ oTTEN e
A x=—"7-— x=— C.x= D. no solution e
3 3 3
% = bt Vo

39. Elli and Helmut are meeting at the Big Bird Auction and Ice Cream Emporium in Vancouver 7((9: ot 16
this weekend. Elli has to travel 480km while Helmut only has to travel 387km. On average, <
Elli travels 10km/h faster than Helmut. If Elli's trip takes a half-hour longer than Helmut's,
which of the following equations could be used to determine Helmut's average speed?

A 480 _30=ﬁ B. 480 +30=387 C. 480 +l=387 480 l_ﬁ
x+10 x x+10 X x+10 2 X

x+10 2 x
't/’\i o%c\hhog‘/;
units ave W hrs

40. Determine the piece-wise equation that best represents the function y= '— (x + 3)2 + 4l

[(x+3) -4 x<—5 [(x+3) +4 x<-5
y= I-(x+3)+4 if —S<x<—-1  B.y= {-(x+3)+4 if -5<x<-1
x+3) -4 ~1<x x+3) +4 -1<x
(x+3) (x+3)
—(x+3) +4 X <=5 [—(x+3) +4 x<-5
C. y= §(x+3) -4 if -5<x<-1 D.y= { (x+3)'+4 if —5<x<-1
—(x+3)"+4 ~l<x ~(x+3) +4 ~l<x




Part C: Open-Ended Section

1. Solve the following system of equations algebraically.
y=-3x+5
y=3(x—-4)*%*-7
2% +% = B -1 -1

+ 1 +1

~ 212 = 2(XF U MUY HK)

TEX A2 = 3T - 24y auD

Y% -\ 437 -2
0 2x2 \:):'7;\‘-\)\'5 = — %
=EXT -2\ +32b
= -3(3)x% = 4
053 (%% ~x 4 \2) Y=
\V -
AU x=2 and (%‘_L_
2. Solve |2(x — 4)? — 8| = 2x — 4 by graphing.
—4 L8 'N /X | A
Stepst 1,2, S ; \ *
X2 2,0, \0 \
}% |
|
A \iJ
N\t \/
- \/ \
_.YQo\u-how\S'. X=2, X=5, 7(?‘)\ ¥ x
A r




3. Solve algebraically: |—3x% — 18x — 23| =8
case(®

“3p*-\8%-2%:=9
'8 -8

3% -\3Y -2\=0
Ly deesnt factoe &
a=-> b=-18 c=-3|

X=-(18)t \‘(—\&)’— ~H4CD(-3Y)
2 (-3)

cany mheaa,-ﬁve

|2\ no Solwtion')

COSR
~(2%x>-1@% -22) =8
3x* +\8%x ¥22 =8
.,8 ——8
X7 18 % v\B =0
2(X* Ybx+r2)=0

(X +S)(xxH=0

U y
Ax=-5) e







